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9. foshmifEe %1 g2 2 Who is Vikramaditya?
R. U] HEMRIE WA AT R TR S B R 2
Which is the nearest sea location from the boarder line of Nepal?
3. ‘Al I9ATEE HdHR $ g 2 Who is the author of "nathiya" novel?
Y. 93 3t ArSTTenT ST JaTeTH Hf WR S TR a2
How many percentage of people were under the poverty line in Nepal at the end of 13" Plan?
Y. YR SAHM WA SeoifEd Uals AT R e HATTE & B &1 2
‘ What are the two duties of every citizen as described in current Constitution of Nepal?
& IR ASHIA Cranial bones FHiae 9 2
How many Cranial bones are there in human skull?
8. YT HEFTRUIThEEa! 14 SEier |
Write down the names of Metropolitan Cities of Nepal.
5. "The Theory of Everything" J&iehehl o1& i § ?
Who is the author of "The Theory of Everything" book?
R. AT HiEUA AT W TR Aif S T A s @ g 2
According to the Constitution of Nepal, what are three bases to conduct an mdependent foreign
policy?
Q0. urerh! Hfeur s T 78 st %A H4 femes @S 2
According to the Constitution of Nepal, which bodies are there under the local Level?
9. TG S HTA YE TR G 2 FF ST TSR] 1/ 774 TS 2
Who started "Lakhe Jatra"? In which occasion "Lakhe Dance" is performed?
qR. A (Stale) 9% I & & ? What is mean by Stale Chaque
3. A T A T aEfem fafig afeReR s S i 2
According to Nepal Rastrya bank Act, what does "Negotiable Bill of Exchange" include?
9¥. Tl T SFF . 09Y TS 39 T A SIS S TRA! T Gr=reh! Arem sTfga fosee areTEar 2
Write down the inscribed figures in Rs. 5 banknote issued for operation by Nepal Rastra Bank on
Sharwan 31, 2014.
. T T Sehet el TR AR ‘%' T @' Ffeh1 ANGreren Fereeal Hia Teprish Tamsqeis 2

How much paid up capital should 'Ka' and 'Kha' class of national 'level banks maintain as
provisioned by Nepal Rastra Bank?
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KYC, AML T CFT %! JUi& ai&ger |

Write down the full form of KYC, AML and CFT.

iz qoarg favIIgRI R00Y, SUTE ST TREH! ALATg AR AdElH Ffas A Hd B 2

What is the per capita income of a Nepali as per the data published by Central Bureau of Statisctics
in 2075 Baisakh?

ST o1 1o Wieed ATHR GDP i SATHRAT 7 09% 1 favash ol g HA &1 2

According to the report of international Monetary Fund, Which is the richest country of the world in
2017 on the basis of GPD? ‘

W e ST SUHETHTEa 1 g T A ¥ g 2
Who is the present Deputy Secretary-General of United Nations and from which country?
T 3095 A1 YRG! WS TEHsT TEHR I AU AR 9@ R 2
Who Nepali citizen got the prestigious. "Padma Shri Award" of india in 2018 AD?
. g R0 IF

. e fezus 9o 5 g2 forwermn Auredt smarHn fray ereger |
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e T
. } 1 Afearen! R TR T ¥ THH F 2,400 Tl S Hid §S ?
At the rate 2 paisa per 2 month of Rs. 2, what is the interest of Rs. 2500 for 5 years?, 5
aﬁmnﬁAﬁlﬁBaﬁmWiCaﬁ T Yok WHE S | A1 St fireft € wm qo e T w1
JAETE W HH T AN THT U ST | E

A takes twice as much as B and thrice as much as C to finish a work. Working three of them
together they can finish the work in 10 days. Find the time each will take finish the work separately. 5
Trgel T AR I ©:R AT (0 03 HST B | Wﬁtnﬁa@meawm
AT Hid .Sl TGIES ? T RNSTe |

The mixture of a ratio of Mansuli rice and Masina rice is 7:2 is 729 kg. How much extra Masina rice
should be added to make the mixture of Mansuli 7:3 ratio? Find. 5
e Tt 0% A e Fafsh TR B | AR & 30 30 9 TR Tl TR 4% A §B ¥ I e
SHIAYEd T AR |

A table was sold a gain of 10% Had it been sold for Rs. 30 more, the gain would have been 15%,
find the cost prices of the table. . 5
@Waﬁ,—gw?o%@zfa%ﬁs%gwaﬁq@m(vm)ﬁhmqﬁm | SE S AT
o s, fareer Te sifigfis X (VAT) W64 a19d . 959R frdl 18 | 3@ 3 gfd aifga
e T qed Afugfe # (VAT) Sfeas! fafra g o= ermsgerd |

A tourist bought a statue at 20% discount on the marked price with 13% Value Added Tax (VAT).
When he returns to his country, he get Rs. 1872 back for VAT at the airport. Now; find the marked
price and the selling price including VAT of the statue. ' 5
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The average weight is 60 kg of 7 workers in an office. If the weight of 65 kg per person are 2, weight
of 60 kg per person are 3 and weight of 55 kg is 1 person, find the weight of last one person. 5

aﬁﬁﬁﬁmﬂomuﬁaﬁwﬁaﬁmmHWﬁmeﬁﬁwm

SIS FaTeR 9/ G SR i Te=gs 2 Fheger |

The interest on a sum becomes 1/5 of the principal at 10% p-a. in a certain interval of time. By how
much should thé rate of interest be increased so that the interest will be 1/2 of the principal in the
same interval of time?

TE T /4 A HIA T, ¥ A TR T, 1/3 9 T T 44 T e <t e @
TSI A TS T SAMSTRY |

A stick has been painted 1/5 part with black colour, 1/4 par with yellow colour, 1/3 part with red
colour and 15 meter with blue colour. Find the total length of the stick.

srferem, weiten T weftan feen @ftn Tive wTu Az sifrener wdene fRE e 33 a1 fafe, o

- vdieTe gHieTe faen e 9% mﬁﬁ{wﬁmmmmmﬁrmfaﬁivsﬁﬁmﬁ

TIHATHT ST |

Anisha, Pratiksha and Samiksha went to a restaurant for dinner. If Anisha paid 2/3 of the amount
paid by Pratiksha, where as Pratiksha paid 1/2 of the amount paid by samiksha, how much money
did Pratiksha pay of the total bill? Write the fraction into decimal. S

Y T HIRERATS xoﬁwgﬁmmmﬁﬁsomxommnﬁma@twwm
Sieh! TS ISR Hid 757 7 2

There is enough food for 75 workers for 50 ‘days. If after 30 days, 50 workeres left the work, then
how long will the food last for the remaining workers.
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